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Instructions:
1) Attempt all questions.
11) Question Nos. 1 to 4 are objective types. Carries total 20 marks.

ii1) Question Nos. 5 to 8, each question carries 2 marks. (word limit 30 words)

1v) Question Nos. 9 to 12, each question carries 3 marks. (word limit 75

words)
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A-435 (E/H)
V) Question Nos. 13 to 17, each question carries 4 marks. (word limit 120

words)

vi) Question Nos. 18 to 20, each question carries 5 marks. (word limit 150

words)

vii)  Internal choice is given to question Nos. 5 to 20.

1)

e fRzew gf - | [1x5=5]

Choose the correct option :

@) CsCl# afe Cs* ot ot anféwm W 8 &), & Cl™ amw 1 serdee
Her gt —
(a) 8 (b) 4

(c) 6 (d) 12

(a) If coordination number nf C<™ is 8 in CsCl then coordination number of C1~

ion is —
(a) 8 (b) 4
(c) 6 (d 12

@) A ferie o€ & -
(a) ohm™lem™! (b) cm

(¢) ohm cm (@ em™!

(b) Unit of cell constant is :
(a) ohm 'em™! (b) cm

(c) obhmcm (d) cm™ !



2)

(@)

(c)
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IAfS AR # aw el o & -
(a) wfba T=WH @R (b) YA THHA R
() TP 4R W) (d) e ToF i ®

The rate of chemical reaction depends upons -

(a) Active mass (b) Atomic mass
(c) Equivalent weight (d) Molecular mass
® fereiror fbar & —
(a) o & (b) Feerdt
(c) oA aRRad= 78 B (d) T8 9§ g 78
(d) Adsorption process is -
(a) Exothermic (b) Endothermic
(c) No heat change (d) None of these
@) worsT g sifewa & -
(a) TArS _ (b) TR
(c) s (d) smnEr
(¢) Which has maximum electron affinity -
(a) Fluorine (b) Chlorine
(c) Bromine (d) Todine
R =t Y gfif AR [1x5=5]
@) TA e TOR & T T B F
(@) oy garl 9 was uv R BT 8 S Fed 21
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@) IR T 1 AT GF e, B

@ wre NN & g o B
) wwgeRd s aftes Mrs &1 9 ... g

Fill in the blanks :

(a) There are -——-----—- type of crystal system.

(b) The substance on whose surface adsorption takes place is called ---------
(¢) Chemical formula of corrosive sublimate is -----------

(d) Magnetic property of noble gases is -------------

(e) The formula of antiknock organometallic substance is -----------

TP O H IaN Ao ¢ [1x5=5]
@) s wheve fafag |

@) orter apall B AW F D 99 WedT 2

(@) ¥ ST R 1 g3 fafag)

@ [Fe(CN)s]>™ # s & smadiavr wen fafag |

) T S tu wite Me T 2

Write answer in one word of each :

(a) Wrnte Bragg's equation.

(b) Which bond links amino acids together.

(¢) Write the formula of benzene diazonium chloride.
(d) Write oxidation state of iron in [Fe(CN)¢]*>

(e) Which noble gas forms maximum compounds?
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S)

& WS Ty :
HAH A
@) e B ¥ F T
(@) favpres
(®) el B wer
(@) afreeda o
(&) v deevge

Match the pairs correctly :
Column 'A’

(a) Smell of mustard oil

(b) Explosive

(¢) Hair fall

(d) Amorphous solid

(e) Heteropolysaccharidies

U Hor T 87

What is peptization?

T 1 G7 N w.f fRgar 27

Why is sky blue in colour?

A-435 (E/H)

[1x5=5]
P T
(i) EEA
(i) A
(i) *RA FFEMENEERT
(iv) aAwWA
(v) NaCl
(vi) TSN
Column B’
(i) Biotin
(i) Glass
(iii) Methyl isothiocyanate
(iv) TN.T.
(v) NaCl
(vi) Glycozen
[2]
agar / OR
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8)

9)
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e T4 @ wgaT Sof waife gt & 2 [2]

Explain why lonisation energy of noble gases are highest.
serar / OR
TE 17 & a@l DY Ao T PEd 8
Why elements of group 17 are called halogen.
AT ORETY] T T B | Ia1. wiRd || [2]
What is effective atomic number. Explain with examples.
srar / OR

Prefrfr et % [UPAC 1 farfag—
(i) K[Hgly) (i) [Ag(NH3),]CI
Write the IUPAC names of the following compounds.
(i) Ky[Hglyg] (i) [Ag(NH3),]C
FraEIgSe I &7 TP UHR foran | [2]
What are carbohydrates? Give types of carbohydrates.
3rerar / OR
Prerferfed fefia # w4 ¥ erara A Rl |
() Refm A (i) fefm D
Write the diseases which are caused by lack of following vitamins :
(i) Vitamin A (i) Vitamin D
Haear 9 MNeerar § fex fofRad (@ =) 3]

Differentiate between molarity and molality (any three).
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11)

12)
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~ 39ar /OR -

g Rges 918 989§ moTod g 3 fegs § 39 ier fafg )

Write three differences in solution having positive deviation and negative

deviation.

afe NaOH 9 4 7 7131 500 fch faera 3 SuRea &, oY Regw # Ao s

Fforg | (3]
[+ 4 gm. NaOH is present in 300 ml solution then determine the normality of the
solution.
Fear / OR
fr=fafaa & oy S|
(i) e (i) wew wfy fafera=
(111) URRNYT 19
Explain the following terms :
(1) Formality (i) Parts per million
(1it) Osmotic pressure
AR THHT T 99T BY (3]
What are inner transition elements.
aar / OR

HHHY G ES SORS Bd & W AT
Transition elements are good catalysts explain.
AeTgel 9 YEEgel ¥ O SR fafaw [3]

Write three differences between Lanthanides and Actinides.

7 (P.T.0.)
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14)

15)
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Foar { OR -
TRIgERE § KMnO 4, a9 3t et o) wemfe wievor wita fafag |
Describe the preparation of KMnO 4 from Pyrolusite with equation.

mﬁﬂﬁmmwm@ml [4]

Describe four factors affecting rate of a reaction.
geEr / OR

fafrar &1 sndergErar Fur 87 wem e it & fog srdemrere % ToRT
P |

What is half-life period of a reaction? Calculate half-life period of a first order

reaction.

die & frepdor ot aramed) @1 WP R T1EY 7 S9d A TR
st farfag ) [4]

Write the reaction taking place in blast furnace when haematite is converted into
pig iron with diagram.
JEar / OR

A R AIEeE v P Brael TR A Tt afifrael o1 aieso wita
fafag |

Write four different chemical reaction of copper with nitric acid. Give equations

also.

P TepiEe 'A', Gig H,SO, ¥ 9 T 3R W) TP 'B' 3ar &1 'B' @ aMH o
¥ yarfea $ IR W e &7 Serge @ Afear et REEgerie s w®
& 1 s 'C' 7er 21 'C' HgSO 4 3 Sufufy # H,S0, & frar av At
'D' @ 81'A', ‘B!, 'C', 'D' ?Mfrs =g [4]



16)

17)
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An alcohol 'A', on reaction with conc H,SO4 gives an alkane 'B'. 'B' after
Bromination with sodamide give dehydrozenated compound 'C'. 'C’ on reaction of

H,804 1n presence of HgSO 4 gives 'D'. Identify 'A’, 'B",'C' & 'D".

3ar / OR
= 9 'A", 'B','C', 'D' yg=m |
Identify 'A", 'B', 'C' & 'D".
ot
C,HsBr + KOH kB oA ‘EZSZIZ > B _62;: C :f > D
- (HCOO),Ca +H,0
- H,0
fifer ik Toalela # siae fafay | (@€ wR) [4]
Differentiate between phenol and alcohol. (any four)
erar / OR
fr=r &1 ey
(i) o dfere (i) R S afAfEar
Explain the following:
(1) Lucas reagent (i) Reimer-Tiemann reaction.
Wit feaeft fafas: (4]
(i) i st (i) R
Write short notes on the following:
(1) Perkin reaction (1)  Urotropine
3erar / OR
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19)

T BT & SE—  (TERO gRT TEelh)

(i) VW B | H,S0, & ur w fbar wrar ¥
(i) ¥ e SOCl, & firr &var 2|

(i) offes ancr smifear & fsar owan 21

(iv) SRiRt® s oIRe® wreT ¥ fhan o B

What happen when (Give only equation).

(i) Acetone reacts with conc. H,SO4.

(ii) Benzoic acid reacts with SOCI, .

(iii) Acetic acid reacts with ammonia.

(iv) Acetic acid reacts with caustic soda.

PRI PT P 1 82 3B 0P sguar faread |

What is Kohlrausch laws give its any one applications.

geEr / OR
HEE BISoIo SAERIS aa1 87 9% B9 17 W 2|

What is standard hydrogen electrode? How it is made?

TSR & Ug aifedt el & AW 9 ¥a g fafag |

Write formulas and structures of five oxy acids of sulphur.

gar / OR
T F AR B o afde Iofq Ao |

Describe Brodie's ozonizer with diagram.
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20) wférer feaelt fora - [3+2=5]

(i) *T™® (i) e fawa feeae™

Write short notes on the following.

(i) Charak (ii) Nalanda Vishwa Vidyalaya
Ferar / OR

=1 @ wag § \RsER |

(i) wftrorrr awar it (i) e e

(iii) BT T (iv) S&os

(v) R fFar®|

Explain in brief the followings-

(1) Anti-fertility drugs. (i) Disinfectants.
(ii1) Sulpha drugs. (iv) Analgesic
(v) Antipyretics.

desiedeiedeskk ook
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